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Question Number : 1 Question Id : 3354726131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In w%i?ch district of Madhya Pradesh is ‘Omkareshwar temple’ situated? | 7 W24 & oy e # affamear Aler

Options:

1. ® Mandsaur district | AN FaT
2. ¥ Khandwa district | E=ar B@r

3. ® Ujjain district | F== MaT

4 % Jabalpur district | SE@qE M7

Question Number : 2 Question Id : 3354726132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who was the founder of Amritsar? | STHIEY & TEAE BT 47
Options:

1. # Maharaja Ranjit Singh | AW &g &5

2. ¥ GuruRamDas | TE A 39

2. % Guru Gobind Singh | & MiiEg g
4. % Guru Teg Bahadur | T 37 s51g0

Question Number : 3 Question Id : 3354726133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
World Water Day’ 15 celebrated on

Options:

1. % 22nd March | 22 A=
2. % 1stMarch | 1 A=

3. % 10th March | 10 A=

4 ® 4th March | 4 AR

Question Number : 4 Question Id : 3354726134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The draft population policy of which Indian state proposed a ban on people from government jobs for

violating legal age of marriage rules in 20177 | 5T ARG T & AT S=aEaT A 5 2017 § et & Tt &1 e
errg%ﬁaﬁrﬂ:raf’é:rwrﬁ o FT O Wid ey @ o W T T e

Options:

1. ¥ Karnataka | ®icH
2. % Meghalaya | HO#T
% % Crissa | IEFT

4 % Azsam | SEE

Question Number : 5 Question Id : 3354726135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Mithali Raé created history in the recently concluded Wornen's CDI World Cup tournament by _________ )

T 51 H HO Afga SiETams g s gaie # _________ =T3ET 7 Tami

Options:
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%;3 leading India to masxirmurm number of victories in ODIs | ATSIHTE H ART & Iqda # =i &1 arrémay @2 &

2. % taking highest number of catches | 3= %7 SIMEFTH GE4T @
=, ¢ pecoming leading run-getter in women's QDI | ATEAT ST # a0t 77 =7 JTsT
4 % leading India to finals of the ODI World Cup | SISTaTg feer 7 F HEad § IR F1 qqd Hier

Question Number : 6 Question Id : 3354726136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The highest civilian award of India 'Eharat Ratna' has been awarded to only two foreigners so far. One of them

is Melson Mandela. The otheris_______ | R W g ANTRE (RN AT T GRT 8 TF Tt e tat = g
TeaT TRAT 31 0 & U Heed He ol g gEl ______ 7
Options:

1. # Mikhail Gorbachov | g maT

2 % Barack Obama | =X Ai&mET

2. ¥ Khan &bdul Gaffar Khan | &9 $ege THEC G
4 % sSheikh Mujib-ur-Rahrman | 3@ geiia-30-TgA

Question Number : 7 Question Id : 3354726137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The MNational Institute of Oceanography is located in

Options:

1. v Goa | Tar

2. % Vishakhapatnam | FHamEmg-m
3. % Murmbai [ 9%

4 % Kolkata | HIeemr

Question Number : 8 Question Id : 3354726138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How mary associate banks were merged with the State Bank of India in the year 20177 | @f 2017 # fhad
THITETT d i da 8w siear # e fow my 4

Options:
1. % 4
2.5
3 % g
4 ® 7

Question Number : 9 Question Id : 3354726139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to Hindu mythology, who invented the musical instrument Veena? | T§g dii famsif & s, e
HIIT aTel I ST FT ATTeEwT e 277

Options:

1. ¥ Goddess Saraswati | 3t @0
2 ¢ Sage MNarada | & RS

5 % Sage Parasurama | Fit OvsETH
4 % Goddess Lakshrni | 3t @&wr
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Question Number : 10 Question Id : 3354726140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to India State of Forest Report - 2015, which state has the highest forest cover in percentage terms?

| AT T A WR-2015 3 arfaw, Frg v # uid s o OTiet ® 591 7 Herd s T @ 7Taw 57
Options:

1. ¥ Madhya Pradesh | Hea 0

2. % andhra Pradesh | SITe 024

3. ¥ Mizoram | fBFRm

4 % arunachal Pradesh | &R A2

Question Number : 11 Question Id : 3354726141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is Sanskrit University located in Madhva Pradesh? | W nea § 66gd haldead og] e 57

Options:

1. # Bhopal | «iTe
2. % Indore | EaK

= ¥ Ujjain | 3=

4. % Jabalpur | F&EAYY

Question Number : 12 Question Id : 3354726142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is located in Sidhi? | FaiarET # @ o9 dhit o 9 g2

Options:
1. ®¥ Kanha MNational Park | ®T-gT T8 1 J2IH
= ¥ Bagdara Sanctuary | sTgET S

3. % Bannerghatta MNational Park | 9931 T8 92
4. % Bandhavgarh National Park | =TeEmg T8 324

Question Number : 13 Question Id : 3354726143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which of the following districts is the Pachmatha Mandir situated? | eRET # @ oy e § temar 7l 9m 27

Options:

1. % Jabalpur | ST&Eeyt

2. % Burhanpur | gigMHYT
% % Barwani | g=amT

4. % Shahdol | ST

Question Number : 14 Question Id : 3354726144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following discovered Pachmarhi Hills? | 77 fafT # & o vomdt mgnis. ot Fr @ &

Options:
1. % James Forsyth | 570 BTG

2. % Malhar Rao Holkar | Aeg TTe Elelehy
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2. % Dagulatarao Sindhia | SiAdC T
4 % Wwilliam Sleernan | Tfeas T

Question Number : 15 Question Id : 3354726145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

14th Nov%rglber as the Children’s Day is celebrated in whose honor? | o @ # 14 9% a1 eag & &7 §
HATIT =TdT &

Options:

1. ¥ Mahatma Gandhi | AgTAT T

2. % Charlie Chaplin | =T =e

=. ¥ Pandit Jawaharlal Nehru | U&7 Fa5eAld 95

4 % subhash Chandra Bose | a9 =g a9

Question Number : 16 Question Id : 3354726146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘ii;;cr:ue?; .Irlldvi\lef’;nrgrﬁgister for roadways, highways and ports? | GS& A, AT 3 G20TTE o IRT & A7 #1957
Options:

1. % Piyush Goyal | W M

2 % Suresh Prabhu | FEaw]

= % Radha Mohan Singh | =7 959 g

4 " Mitin Gadkari | &9 =@

Question Number : 17 Question Id : 3354726147 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Every year, where is the 'Bhoot Mela' organized in Betul? | Sq¢ | Wedd o 7 BAT g1 AT B ST g7

Options:

1. ¥ Rampur | TTAYT

2. ¥ Malajpur | FAMIT

3. % Betul Bazaar | off o
4. % simori | WO

Question Number : 18 Question Id : 3354726148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

%m BRICS Smart Cities Conference was held in 2016 in | 2016 # 699 €A1 957 #0409 H g & T

Options:
1. % Jaipur | S
2. % Indore | 21

3. % Raipur | {4
4. % sShillong | T&mT

Question Number : 19 Question Id : 3354726149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Eateswar group of temples is located in

| TR AieX FTEEE____H T R
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Options:
1. ® Ujjain | 3=
2 ¥ Morena | geAT

3. % Khajuraho | RTET
4. * Ratlam | @@H
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Question Number : 20 Question Id : 3354726150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which country worn the Women's Asia Cup Hockey Championship 20177 | 19T Zar 3 AlgaAT T18=T &0 g1

AT 2017 S 17
Options:

1. ® China | @+

2. % EBhutan | geH

2. ® Pakistan | UTieRed
4 % India | ¥R

Zeneral Maths and General Aptitude

Section Id : 335472169

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 335472169
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354726151 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& pressure cooker and a rice cooker were originally sold for Rs. 1200 and Rs. 2000, respectively. During a
zale, Chaya bought the cooker at 30% discount and the rice cooker at 35% discount. What percentage of the
total of the original grices did Chaya save? | T W Foht T UF TSE Frd H1 G &0 F FHT 1200 50 7d 2000 20

H =T T U 6 W
i e s=aT?

Options:

1. % Z25%
z ¥ 33.125%
3% Z4%

4 % 33%

BT = Gt T 30% w1 F¢ T T7 T5H Fohd 1 35% 1 G0 U0 TN F1T 4 G Gral &1 Fol Terd=1T

Question Number : 22 Question Id : 3354726152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

In a high school, student joins math club or science club or both. 20% of students in math club are in science
club and 0% of students in science club are in math club. If there are 15 students in science club, then the
number of students in math club is___. | UF 35 enaa # 513 Tt Fae a1 9= a7 a1 241 § aiffied g9 5 mia

el o 30% T Tkl Fetel ® § S T oFerel o B0 % T 00T el § §1 AT TelelT Fofel § 15 GT §, T 00T oFefel & FTAT 1
=T

Options:
1. %9
2. % 15
2% 30

4 ® 25

Question Number : 23 Question Id : 3354726153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Solvealb = piq. | §A @ a/b = plq
Options:

1. % ab=pg

2 %a=hb

3. % p=q

4 ¥ alp =Dbiq

Question Number : 24 Question Id : 3354726154 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number of 2 digits even numbers is

—___. | 3 T Ay aeEaTat et wE
Options:

1. % 500

2. % 4949

3% 450

4. % 449
Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 25 Question Id : 3354726155 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If the sum of the two parallel sides of & trapezium is 16 cmand area is 48 5q.¢rm, then the height of the
trapeziurm is: | =ie U GHeATE &l & AT gl @7 AME 16 Srian! 9T 896 48 ariad! g, 31 GHete & Sam
Options:

1. %3

2 W E

I % g

4. % 12

Question Number : 26 Question Id : 3354726156 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

27 w33
—

24
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Options:

312
1. % -

3. ¥ 18
4 %0

Question Number : 27 Question Id : 3354726157 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fill in the blanks: | Tar w2 & g #¢

_____ = dax-Zay-dbx+Zhy
Options:

1. % dx+3y

2 ¥ dx-3v

3. % Su+dy

4 ® Zu-3y

Question Number : 28 Question Id : 3354726158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | #8d T #

19, 77, 26, 46, 12
Options:
1.9 28
2. % 37
3. % 38
4 % 39

Question Number : 29 Question Id : 3354726159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Wwhat is the 2000th decimal digit in the decimal expansion of 15}747 | 15}74 % T9WaAg Tea § 20003 S8 g

379 FT 27

Options:

1. % 2

2 %7

2 ¥0

4. ¥ None of the above | 598 & F1E 751

Question Number : 30 Question Id : 3354726160 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number 999999 is not divisible by: | =T 9,99, 999 ¢ [9v=a 51 &

Options:
1.% 9
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2 % 11
3 ¥ 1111
4. % 99

Question Number : 31 Question Id : 3354726161 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What is the next term in the given sequence? | 307 0 ®H # SATAT U2, &40 517
15, 100, 21, 34, 27, 88, 33, __

Options:

1. % 29

2. % 45

3 ¥ B2

4 % 7E

Question Number : 32 Question Id : 3354726162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The respective ratio of the ages of Jaya to Bharat is 3:2 now. 10 years ago, the ratio was 4:1. What will be Jaya’

5 age after 5 years from now? | ST ST W AT | WG B A F AU FAT 3 29 10T Ig U 4: 1 oM e
S o W ST ST T BT

Options:
1. % 18
2. % 20
3.V 23
4 % 24

Question Number : 33 Question Id : 3354726163 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

At present the ages of father and son are in the ratio 7.3, respectively. 10 years later, the ratio will be 2:1.
What is the Son's present age now? | g # T0GT 0¥ UF @1 811 F7 Sad AT 7 0 3 71 10 79 w319, 5 o 2 0 1
B O T AT S Tt £

Options:

1.9 20

2 % 25

3% 20

4 % 18

Question Number : 34 Question Id : 3354726164 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the string EEMNGALUREENGALUE. ... BENGALUE, where EENGALUR is repeated 20 tirmnes. All odd positiorn
letters are rermoved first and later in the successive residual strings also. What is the last letter left? |
BEMNGALURBENGALUR ... . BENGALUR ® 55T BENGALUR. 1 QTR 20 &1 T2 &, JOH T Temd T e a:§ EAR G
Tl T T &MY aig, # 4 argerther G 9 off 3% 5o TR A Sffdw s1av e B

Options:
1. % E
2. % L
VR
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4. ® G

Question Number : 35 Question Id : 3354726165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If a man walks & km in 4 hours, then the time taken by him to travel a distance of 24 kmis: | e #1E 0 4 T
H & Tordil o1 8T qF a8, 1 IHE BRI 24 TRRTHITT R ger a0 W # T mar a6 g

Options:
1. % 10hours | 10 ©F

2 % 12 hours | 12 9¢
2. ® Z4hours | 24 T
4 # 48 hours | 48 T

Question Number : 36 Question Id : 3354726166 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
15 years ago, Atul was half of Kamala in age. If the ratio of their present ages is 2:3, then what will be the

absolute difference of their present ages? | 15 a9f THAT | T H ST 9N i Ieeh | o BT 5119 &7 ST 2 : 3
2, AT ST S AT g 1 quT AT T g s o o

Options:

1. % 20 vyears | 20 a9

2. % 30 vears | 30 a9

=z ¥ 1S vears | 1599

4. % Mone of the above | Iw # & T8 51

Question Number : 37 Question Id : 3354726167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Five sweets cost Rs. 12 rmore than one sweet. What is the cost of one sweet? | Ui [Haeal &1 grd, 0% T35 9 12

R Sife 31 T TS T et R 27
Options:
1. %2
2. ¥ 3
3% 4
4 % 5

Question Number : 38 Question Id : 3354726168 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Ta?_he Sur%of the square root of 81 and the square of 3 is equal to____. | 81 @& ITq 31 3 @ =1 @1 AMEA

Options:

1. % 2x3
2. % 3Ix?2
2% 32xl
4 ¥ IxE

Question Number : 39 Question Id : 3354726169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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]
[64]3 =?
Options:
1. % 4
2 % 3
5 % 22

4 ¥ 32

Question Number : 40 Question Id : 3354726170 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The prime numbers between 0 and S0 is: | O U S0 & A ST TEiall 6 6T 5

Options:

1. % 14

2 ¥ 15

3. % 186

4 % 17

CGeneral Hindi

Section Id : 335472170
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472170
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354726171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
STFHTT S & -
Options:

1. %49

2 %

3. %3

4 ¥ @

Question Number : 42 Question Id : 3354726172 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
e Rea W
Options:

1. % g

o ® fEdta
= ¥ i
4 % gl

Question Number : 43 Question Id : 3354726173 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AN ER G -
Options:

1. %3

o ® g

2 ¥

4 %7

Question Number : 44 Question Id : 3354726174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

S SEETE FTaT e § ~
Options:

1. % g

2

3 ® g

4 % T

Question Number : 45 Question Id : 3354726175 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
<t gl w0 & T 3, 7l e & s, 39 e B

Options:

1. % argaaoe

= W arieaw

3. ® argant

4. ® g @ wig A5

Question Number : 46 Question Id : 3354726176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
R EICIREIECI G R AT

Options:
1. % gt

2. ¥ T
3. ® g

4 % N7
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Question Number : 47 Question Id : 3354726177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T g AT AT e U e P A a wa A iy
Options:

1. % oqrr

2 % gy

3. aE

4 ¥ =5

Question Number : 48 Question Id : 3354726178 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

I w1 A e e A g E A e?
Options:

1. % 37 43T

2. % Fa+ AT

3 ¥ I+ A

4. ® 9T+ AR

Question Number : 49 Question Id : 3354726179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“Wifd @ AN deg g H @ BT ATE?
Options:

1. % g

2 ¥ amERitd

3 % gl

4 % Fidwr

Question Number : 50 Question Id : 3354726180 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘T IUET H AT Tog g H H B A7

Options:

1. % foamg
= % Ty

3. % T
4 ¥ T

Question Number : 51 Question Id : 3354726181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AagaeE Mg ¥ g # § ®I9 |7 90T 87
Options:

1. % arcadare aam

2 ® fgyanE
3. o T "HE
4. % iy gug
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Question Number : 52 Question Id : 3354726182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘el TdeT Gerea @ of P g e ar e

Options:

1. % elar e

o % e i g

2 % fopt =i o we e
4. ¥ GG AT

Question Number : 53 Question Id : 3354726183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘ETE W g T H A AR

Options:

1. % e
2. ¥ eI
3. ® areae
4, %z

Question Number : 54 Question Id : 3354726184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e 1 ey aam-
Terame & STl 37 e et o fdwaf ranfa & 8 -

Options:

1. % ool wie Toreft WerTe T aTTe O7 Tda-T 5ia T &l
2. % Ty wid Torelt W T I 97 SRS 5T &l
3. ¥ Toeer vid et e T A1 T SeeAT i T 8l

4, % T Wid TRt meT T 9T o7 GeleAT ARl g1 gl

Question Number : 55 Question Id : 3354726185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“FA-T TOT OF 33T 49T W0 &7 Z1en
H I AT AT 21 ﬂfrﬁartrcrzﬁm

Options:

1. % JEUyT SE®R
2. ¥ JUAT SIS
3 % Ty SIEET
4, ¥ &7 AT

Question Number : 56 Question Id : 3354726186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TUH AT Seg gy - ST
Options:

1. % am@t
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2 % fRaT

3 ¥ A

4. = ﬁqﬁ

Question Number : 57 Question Id : 3354726187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T Mecl o THE o 0T I=9ar a1 | Oiad - 51aT 81 36 4T gAMb 5 -

Options:

1. % goar
2. % e
3. o i

4. % qEm

Question Number : 58 Question Id : 3354726188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IheatT ool f @ AT § -

AT IH T AT TF =, Topg-T wemT fra-r g2
ey | Tl AT o W, T 0 e aR-a
ST 97T I-H1E, 9T, 371 i of 0% T

Options:

1. % i e
2. & T g
z % gy

4. ® FEATE

Question Number : 59 Question Id : 3354726189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘BT IA? EA B 50l 50 | AR @I Al I - H FIT AT EWR 2

Options:

1. ¥ i

o % afFee
2 ® argrie
4. ® qOFw

Question Number : 60 Question Id : 3354726190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o | W A -
Options:

1. v g

2 % oam

3. % g

4. ® T
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Fural Econorry and Panchavati Eaj

Section Id : 335472171

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472171
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354726191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g%? approves the beneficiaries of poverty alleviation prograrmmes? | TRIe IHAT HTHFHT & ATITAT & H 1 T

Options:

1. ¢ Gram Sabha | UTH &97

2. % Janpad Fanchayat | F=0g 0=
3. # Zila Panchayat | FaT t=mg

4 ® State Goverment | T4 GLEHT

Question Number : 62 Question Id : 3354726192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who can be a member of a Gram Sabha? | TR 97 F7 96T - 51 9Fdl 57

Options:
1. # All people residing in that village | 38 TTH & TAET [aTdt
2. % all residents who are major | THT T9%® HamEr

=, ¥ Persons whose names are included in the electoral rolls of that Panchavat | & =i Feer 919 39 W= &r
HagET G H i gr

4. % all people directed by Government | TXETRE &2 b1 9d qHed A0

Question Number : 63 Question Id : 3354726193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In MF, which of the following person can be elected as Chairperson of a Gram Panchayat? | #¢d ndar #, uH
UITorT o afedesl & &0 o H & o T AT el T 27

Options:

1. ® Chairperson of a co-operative society | ®1- T iea TETEa! #T ey

2. ¥ 4 person elected directly by the people of that area | 38 &7 & @ g @ter ez e mar =k
3. % A Member of Parliament | 59 %1 @26

4, % A Member of the Legislative Assembly | T2rma &7 &7 d2eT

Question Number : 64 Question Id : 3354726194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

which among the following is NOT an objective of Kisan Credit Card Scheme? | FRET § & #1997 raH $Fise
TS AT FT 54T 751 57

Options:
1. ® Purchase of seeds | &= & @iig

2. % Purchase of pump sets | U0 92 &1 Tiig
2. % Purchase of fertilizers | Fdvw! & @g
4. ¢ Industrial developrnent | = Hem

Question Number : 65 Question Id : 3354726195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What was the targeted percentage of SCJST bEﬂEflClElI‘lES under owarna Jayarithi oram Swardozgar Yojana Yo
Faut A T W TSR AT 3 amﬁraaq%%r 0d AT mw@%ma@aﬁwww

Options:
1. % 10
> % 25
3. % 33
4. % 50

Question Number : 66 Question Id : 3354726196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwho among the following shall be the Secretary of DISHA - the District Developrment Co-ordination &
Monitoring Committes? | FElEET # € 3919 -7 Betes Somude - aTiE4a9 U2 ATi4e T ®HeT 37 Gied §e
Options:

1. ¥ Member of Legislative Assembly | T2 @47 & Tgea

2. % Mermber of Legislative Council | T aivwe & agea
= % District Collector | FaT #eder

4, % Gram Panchavat Secretary | W T=ET 9=d

Question Number : 67 Question Id : 3354726197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AS per the Expert Group Eangarajan panel), the estimated percentage of rural population below the povert

g%em Z011-12was ______ | T g (TR U9 & GaTierd 201 1-12 T (ET & i T smeamer #1

Options:
1. % 21.9%

2. % 26.4%
3. % 29.4%
4. ¥ 30.9%

Question Number : 68 Question Id : 3354726198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Madhya Eharat Fanchayat Act 19149 provided for a
19499 0F __________ T WUTTAT o Tell] W ol
Options:

1. % Three - tier [ TG0

__________ panchayat systern. | AT AT Thad SATE a8,
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2 ® Two - tier [ TEeqo=
2. ® Four - tier | IF &4
4 % Five - tier | U &9

Question Number : 69 Question Id : 3354726199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The Madhya Pradesh Agricultural Warehouse Act was enacted in ______ .| e WS T e e dET3d Tee (Y
M ST 7 artérr=iag e T em

Options:
1. % 1936

2. ¥ 1947
3. % 1965
4 % 1975

Question Number : 70 Question Id : 3354726200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The issue of the introduction of crop insurance in India was taken up b}.r the Ministry of Food and Agriculture
in the Central Legislature in _______ | VR H A ST T ST W ST g T T HE e B W S Y 5w g
ERIRICTE

Options:
1. % 1936
=z ¥ 1947
3. % 1951
4. % 1956

Question Number : 71 Question Id : 3354726201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat is the extent of reservation for women in Panchayati Raj Institutions? | T=TadT o7 et # Aigamst & o
TCHT &7 feaw g 87

Options:

1. % 20%
2 % 25%
3. ¥ 33%
4 % 37%

Question Number : 72 Question Id : 3354726202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

__________ i5 entrusted with the functions which could be done at the block level and required some expertise
like agriculture, cottage industries, etc. | __________ 1 I FIAT @ HAT ATAT & Folvg acliar ©a€ OF 2520 =T 9T 5 &
%r:rfgfﬁ‘, F T FET AT ST For ST &1 Ty u2dT 2l

Options:
1. % Janpad Panchavat | 9902 =T

2. % Zilla Panchavat | T /=T
= % Mohalla Panchayat | Algedl =T
4. % Gram Panchavyat | 70 T=mad
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Question Number : 73 Question Id : 3354726203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the present chairman of NABARD 7 | ATNE & I AT ey B 57

Options:

1. # Urjit Patel | I 0ea

2 #® Rajnish Kumar | FH19 FAT

3. % Ajay Tvagi | /4 ol

4+ Harsh Kumar Bhanwala | g5 §HR A=a1=T

Question Number : 74 Question Id : 3354726204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The target of houses under Pradhan Mantri Awas Yojana - Gramin fixed for Madhva Pradesh for the vear

2016-17 is between ______ | W AT STET TR-T-TTHI & &g ;e e a o 2016-17 & & T I
& TET T B

Options:

1.9 400000-450000
Z % 250000-Z30000
3. % 200000-340000
4. % 250000-230000

Question Number : 75 Question Id : 3354726205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following soils is found in areas with heay ramfall high humidity & large quantity of
%ggamcmatter?mﬁ“raﬁ T TR AT FUT AT AT H A ugrat ﬁﬁ%l‘ﬁﬁ'cr it TSt ums ST

Options:

1. ¢ Peat soil | grga! (diE) ST

2 ® Laterite s0il | #exmze gt
3. % Black soil | ®TaT 05T

4 % Forest soil | =e! o

Question Number : 76 Question Id : 3354726206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The monsoor airs in the country reaches at which coast first resulting in corrurencerient of agricultural

activities? | AT gaTd Gedl Tgel 90 ¢ UT Ugad] & Toefeh OIeTHEaey Fiy Tid et 3 51 a7

Options:
1. % West Bengal | TR T

2 % Odisha | aigta
2. ¥ Kerala | od
4 ® Goa | TEr

Question Number : 77 Question Id : 3354726207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is MNOT a recormmendation of Chief Ministers’ Cormmittee on Panchayati Raj constituted
in 19977 | 1997 ¥ s U=merd | 19 I G0t @i & HafeEs o & @19 4 o ergaar 951 27
Options:
16th Dec17 Shift 1



16th Dec17 Shift 1

1. # Leave selection of beneficiaries to Gramm Salbha | AT 7 =949 TH 54T 0T F12-T

2. % Provide adequate manpower support to the Gram Panchayats | WA T4 ! & G52 o @0 waim S-aris wee
AT

=, ¢ Gram Panchavats to establish medium scale industries | TTH U=lAd 1 &1 FeqH T4 12 JET LT0T F- oF f6g
4. % Gram Panchayat President to be accountable solely to Gram Sabha | TTH T=ITo STesl SiHe TTH @67 & 60

ERLCAT R

Question Number : 78 Question Id : 3354726208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following is NOT a key facility under Saansad Adarsh Gram Yojana ? | @9 H1& U At o
iaTia et # & @19 & 0w T gier T8 87

Options:

1. # Piped drinking water | U= AT 0 T
2. % Electricity | ==wr

3. ® Road connectivity | =@ T0@

4 % Cinema Theatre | T&=mT et

Question Number : 79 Question Id : 3354726209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wmch amon the followin 15 NOT an objective of Scil Health Card Scheme? | T18d 202l F18 T H (AT CaTe Hle
" & T

Optlons :
1. # Help farmer to know the nutrient content of soil | fFamT @ HaT & O Tea! & @i § @ 3 § 5T sr

2. % Recommend appropriate usage of nutrients | TI9ET & g1 JUAN &1 TATE AT
3. ® Improving soil fertility | T & Jevar § U
4. % Providing fresh scil to farmers | a1 & I 02T WS BT

Question Number : 80 Question Id : 3354726210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
According to the Maticnal Sample Survey (1999-2000) the provisional estinmate of work: force directly involved

in1iv..c~_stc::u:1cs.ect.;:-ris%_1 _____ | TSR AT GG (1999-2000) % SFdR, e 85 1 ooy &0 & aaiHied

Options:

1. % 18-20 million | 18-20 T
2. ¥ 10-12 million | 10-12 i
3. % 24-26 milliom | 24-26 T
4. % 14-16 milliom | 14-16 Wfez=

Cormputer Knowledge

Section Id : 335472172
Section Number : 5

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20

Section Marks: 20
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472172
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354726211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the follomn%%mdependent rmalicious program that need not any host program? | 548 9 a5 UFAd
I AT YT A1 AT 2, o Tt e artioer Wi & araema T 95 Bld [ a7

Options:

1. % Trapdoors | 372K

2. % Trojan horse | 9 5

3. % Virus | g5

4 % Worm | T8

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 82 Question Id : 3354726212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Cormputer in a networl cannot be accessed outside of the local network unless ﬁlVEI‘l ETTTUSSI0N 15 knowr as: |

STeh H FE Al Head o "5t a6 a9 UPad gl 9T AT ST &, e @ 1 Saw!
Options:
1. Intranet | E2T

2 % [nternet | EeAT
2. #® Middleware | THiEmaae
4 % Modern | A1EA

Question Number : 83 Question Id : 3354726213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the use of Merge and Center’ feature in MS Excel? | THUST TFaA § T4 U #ee B F1 47 09T 5197 87

Options:

1. ® It adds numeric values from two cells | 95 of 9A1 & e AF &I ASdT 5
2. ® It joins two words frorm two cells | I 37 9#1 § &7 Jag] FI AlSar g

3. ¥ [t combines two cells into one cell | 5 37 971 & 0F O § A=dT 5

4. % [t calculates total of a range of cells | =g |l & {1 &1 Ul T0HT FaT &

Question Number : 84 Question Id : 3354726214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the internet? | 5e¢-g Fa1 57

Options:

1. ® Hamburger Stand | 3HaT 92
2. % Hair Piece | g0 U9

z. % Wworld wide Web | gdg a158 oo
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4. ¥ Computers that are all linked together in a network | & SwE S U@ 2ot & ATan § U g 2 51d &
Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 85 Question Id : 3354726215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the Uniform Resource Locator (URLY? | J-wTH A sihed (URL) F4T 5iaT 87

Options:

1. % It is the email address for the user's email messages | g WIFdT & S0 G490 & ol ST UZ2q 5T 5
2 % Itis the comnputer's address in a cormputer network | I Het Jeddr § Hed BT USed 5ial &

3. ¥ It is a website address eg: www. flipkart.corn | g Uk dadize UZed 5, A6 www. flipkart.cormn

4. % [t is the SIM number of the mobile phone | I5 AlEEA B &7 9 F=X 54T 8
Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 86 Question Id : 3354726216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
ASCII stands for: | ASCIL T ae04 &

Options:

1. % american Stable Code for International Interchange | ST Todd BIS BN 5290 Soii

2 % Arerican Standard Case for Institutional Interchange | ST 022 &6 BT S [ Sete
3. ¢ aAmerican Standard Code for Information Interchange | SHNET G122 BIE B SIHIHIA St
4 % Arerican Standard Code for Interchange Information | SHNET Gi22 FIE B ot 3G 0T

Question Number : 87 Question Id : 3354726217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is NOT a valid Zoor percentage in Excel 20077 | MA@ET 8 § ®19 TFad 2007 § 04T
T TR 71 27

Options:

1. % 10

o ® 100
z ® 300
4« 500

Question Number : 88 Question Id : 3354726218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The device that connects computer or router to broadband network is called ______ . HE’%HEHG?WWW
T AZdg Jedd § A=dl &,
Options:

1. ¥ Modem | H1EH

2. ¥ Firewall | ®TaRdTe
% % Memory card [ HANT F12
4 % Jump drive | AT ZES

Question Number : 89 Question Id : 3354726219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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which shortcut key is used in MS-Word to Redo the last action? | AU &2 # SifdH F B1 I &6] o Toy T aime -
T G AT SHATT T AT 37

Options:

1. % Ctrl+Z
. Ctrl+w
3. % Ctri+K
4. ¥ Ctrl+Y

Question Number : 90 Question Id : 3354726220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Mcafee is afan

Options:
1. ® operating systern | &R T Eeed

2 % yirus | dEH
2. ¥ anti-virus | TE-aE0g
4 % systern software | TR GFTdew

Question Number : 91 Question Id : 3354726221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following keys is used to "ZOOM 1IN the desktop? | TAfeET # & Fra g1 #7 S0 2HFT &
@—Emﬁﬁﬁqmw%

Options:

1. ® windows Logo Key + Home Key

2. % windows Logo Key + Spacebar Key
2. ¥ windows Logo Key + Plus Key
4. % windows Logo Key + Minus Key

Question Number : 92 Question Id : 3354726222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which shortcut is used to make the selected text bold in MS Word? | TAUE 92 H, Heihe T0Y 17 THET F aIrS i
o Toy Torer aiTe - gl 0T U T AT 7

Options:

1. % Space+H
2. ¥ Cirl+B
3. # Shift+B
4. % Alt+E

Question Number : 93 Question Id : 3354726223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
________ is the basic corrmunication language or protocol of the internet. | ________ Te02 &1 T G2 707 27

Options:

1. % TCTP/ITF
= % TCDF/IEF
3. ¥ TCPIIP
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4. % TCMP/IKP

Question Number : 94 Question Id : 3354726224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
15 the srrall area that covers small geographical area. |

FIET 59 FT & ST oie e 57 &1 Fa)

Options:
1. % WaAN |24

o B OMAN BT
T W LAN | wA
4. % Bridge | &=

Question Number : 95 Question Id : 3354726225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The key on the keyboard is used to erase anythin%;t ped on the left of the cursor. | #-a12 W

T T T Y 3 TS ST SIS T T See b he ToraT T 21

Options:
1. % Caps Lock | qd &l
2 ¥ Backspace | swmdud

3. % Delete | 21T

4. % Cursor Control | F6HT #2id

Question Number : 96 Question Id : 3354726226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following displays the contents of the active cell in MS Excel? | HATET § € @19 gATE UFde §
TITeFEe el HT e Ugidd ol 57

Options:

1. % Active cell | glered ##
2. ¢ Formula bar | BTHHAT 97
3. % Menu bar | B a7

4 % Narme box | =7 &g

Question Number : 97 Question Id : 3354726227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The fastest way to Start internet browser is to: | SeX-g T3 ool F- @ Hadl 9 TUH] &

Options:
1. % Select prograrms | WHTH %1 Telge FAT

2 % Click on start button | e ged T {Ford w1

2. ¢ Double click on shortcut available on desktop | SH®T W UL Ao ke U Sacl Tehordh HTAT
4 % Press windows button | e g0 2T

Question Number : 98 Question Id : 3354726228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The function of a roller ball in the mouse is: | AT H, TAT 916 FHE &

Options:
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1. ¥ To give signal movernent to the systern | REd 7% FTHA Tads F7-17

2 % For making selection | Hoigae @ & o0

3. % For connection of the mouse to the cormputer Systern | AT3E B F0eT THeH 8 Tgae & o
4 % Toattach the mouse to the computer systern | FIEd [HHeH & T13d & JalH &1

Question Number : 99 Question Id : 3354726229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is an exarmple of an operating systern? | FHARET § & B9 AR EHes 77 3550 87

Options:

1. % Microsoft Windows | ATE® T Hs M
2. % Microsoft Access | TTE® AT THT
2. % Microsoft Word | ATEwETE 92

4 % Microsoft Excel | TTE® AT THHT

Question Number : 100 Question Id : 3354726230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT an external memory? | AT # 8 737 Upae-d AHRT 951 27

Options:

1. % DVD | EFET

2. % Pen drive | tHZES
3. ¢ Scanner | 99T

4 % Hard Disk | 512 Z9®
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